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[far

3 clocks

6 parameters

X train
X gate
X_intruder

p far
p_approaching
p_waiting
p_lowering
p_walking sensor
p_walking house

2 discrete

Initial

gate down
sensors_active

p far >0

& p approaching > 0

& p waiting >= 0

& p lowering > 0
walking sensor > 0
_walking house >0
& x gate >=0
& x train =0
& x_intruder = 0

&p_
&p

train

l

p far >= X_train]

nsor iv ‘ ;
SENSOrs actlve = ., .t (sensors active)
& p far = x train - :
_ _ & p far = x train
sensor far , % train := 0-
X_train := 0; - -

.
.
.

[approaching

p_approaching >= X_train]

not (gate down)
& p approaching = x train
pass
X train := 0;

(crash

0>= X_train]

gate down
& p approaching = x train
pass
X train := 0;

pass
X _gate := 0;

gate

)

up True\}
/

pass
x_gate := 0;

sensor far
X _gate := 0;

pass
~ x gate := 0;

(waiting

p waiting >= x_gate]

(gone

0>= X_train) (lowering

p waiting = x_gate
start lowering
X _gate := 0;

power cut
x gate := 0;

p lowering >= X_gatebpower_cut (blocked_up

p lowering = x gate
end lowering
x gate := 0; gate down := True;

(down

Tru e))power_cut

power cut
x_gate := 0;

True Ei:: _P,

sensor far
X _gate := 0;

intruder

'

[U choosing

Tru e]

choose sensor

choose house

(walking_sensor

p_walking sensor >= X_intruder] [walking_house

p_walking house >= X_intruder]

pass

X gate := 0;

p_walking sensor = x_intruder
break sensor
sensors_active := False; x intruder := O;

[intruder_done True

p_walking house = x intruder
power cut
sensors_active := False; x intruder := O;



